EARAROBEEIERT — 2 N— IBISH —F

20185F9A1H () 2miLiE5H

Ll T oR2m B (RS)

Z=)

[($57E] Fikb

EEE R

[A&4)] 1 7% :7,000,000 23 :2,800,000 ™ ~ 33 :1,800,000 ™ 43 :1,100,000 @ 5 j& :700,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
BN 2 | M. FA-A 1:31.6 2-3-3 [35.9|78.5 | 1 456 | MIIERE (3ER)
1|5|5|V—RA—T> 54.0 - (- SFEIKNF TR H)
R:F4 =427 B4 42—0XFR J—=HTp—L
3 s 2 | EERMAETT 1:31.8 3-22 | 36.4| 76.5 | 4 502 |fBOEN (RR)
oWl 4| T—VTAT 54.0 (" 1/2) o | #faemE
G417 hT—IEY B:T74-ULTh=—> (B) #HAEI-FKL—va>@AET7
4t 2 | C. Ibx—=Jb 1:32.1 9-8-7 |35.4| 73.8 | 2 452 | FHREX (FH)
311|711V T7—=/ 54.0 (1 3/4) (—) | EEBC
RW—5—2y 7 BTy TFv I J=HrTy—L
S o2 | RS 1:32.2 5-5-4 |36.3| 72.6 | 3 460 | ERERE (FEH)
4 2 N—2 1) 54.0 (1/2) (=) 4 F‘Jl«;»r‘/
LN—=V754 B:INTrrIry H—L— - JvX> - T7—LARS
. s 2 | AEDL 1:32.2 1-1-1 36.9|71.3| 5 472 | KSEREE (EH)
5 6| h—t>ans #53.0 (7€) (=) | Bl
V42814 B:¥a— bR H—L—+ JvIN> - Ty—LBERS
= S # o2 | KRELER 1:32.3 3-5-4 |36.3| 1.7 | 7 492 | AREFIR (RR)
6lglg| P17 w2 54.0 (3/4) (=) |fBES
R—5—Yy T B:XNR=TLFvy b B
> i 2 | AUETR 1:34.1 7-7-7 | 38.0| 54.5 | 6 400 | FHE (FX)
] g|xy b 54.0 (2144) (—) |BREHILY
R:ANTz—FI B:Fy KLFILR J=HrTp—L
= . o, i . LR E : 3 BEFE (5E)
gl7|7|Fev vttt L e (13.314/.27) 6-3-6 |38.9|50.4 | 8 (458) fB{
RXEL/HYT BRALTICx Jr=—klTr—L
S - x_ 5 4 2 | BEHIEM 1:38.3 8-9-9 40.5 | 24.1 9 482 | BB (EH)
9189 To29097%—7 54.0 (21 4) (—) BiEe
RiwvyUgdyk BihAYR—FEbPEX BEZ &Y K
@ 71 L
) 48.6-36.3
NA> 24 L |6.9-12.0-12.0-12.1-12.3-12.2-11.9-12.2
@ 1—F—@&BIEf
12—7—
20—+ — 6,5(4,8)2=7-3,9,1
33—7F— (¥6,4)-(7,5) (2,8)3-1=9
40—F— (¥6,4)5(2,8)7(3,1)=9
[ RN
B OB 5 290M 714K 4-5 280M e & 4-5 790M &R 1-4-5 620M
% B 5 110 1-5 1708 | | BB &= 4-5 900/ | | SEE 5-4-1 3,660M
4 130M4 1-4 240M B H 5-4 1,560
1 110

ABICOVWTRDTEEERROODE. TR LIV,




